=7

=

FRONT RUNNER

o

SSCA048

DRAW DIVIDER

@)  INSTALL TIME: 5 Mins

-

o FIT DRAW DIVIDER

~

You will need:
' 3 mm Hex Key (1 8 mm Flat Wrench

-

(A)

Slide the Slotted Divider Plate into Solid Divider
Plate. Adjust the two Plates to the approximate
width of the Draw and loosely fasten the two plates
together using two of the M5 x10 Button Head
Bolts, two M5 Flat Washers and two M5 Nyloc Nuts
supplied. The Flat Washers and Nyloc Nuts go on

the side of the Slotted Plate.

~

N\ 7

B)

Open the Draw and place the
Divider Plates into the Draw
with the Slotted Plate to the
rear. Line the Divider Plates
up with Hole Sets 1 or 2 as
indicated. Slide the Divider
Plates apart, up against the
sides of the Draw.

Secure the Divider Plates to
the Draw using four M5 x10
Button Head Bolts, four M5
Flat Washers and four M5
Nyloc Nuts as shown. The
Nyloc Nuts and Flat Washers
must go to the inside of the
Draw.

Tighten the middle bolts
from Step 1A and place the
Plastic Nut Caps supplied
over the Nyloc nuts.

REV_A00

(©) COPYRIGHT 2013 FRONT RUNNER VEHICLE OUTFITTERS



